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= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
Ofl LA X1 2 39,807,010 15,907,222 23,899,788
= 16,467,434
Xl 140,000
J| 4,756,100
< 18,443,476
HUX MHESH (MY - SAID/UXZLX2AME) 30,211,772 11,844,501 18,367,271
= 16,072,434
Xl 140,000
J| 4,756,100
< 9,243,238
AN EHX W & 25 7,109,600 7,538,211 AN428,611
= 572,000
Xl 140,000
J| 4,756,100
< 1,641,500
K= =2 9,000 9,000 0
202 odl 9,000 9,000 0
01 = LH o4 1l 9,000 9,000 0
ONUHXIZEM HRZ=ZX 9,000
ATHEUHH X A2 2te| =8 90,000 94,000 A 4,000
201 £B-2dH| 74,000 74,000 0
01 At 22/l 44,000 44,000 0
OATHMUHUHXIEAZ 2Y 44,000
02 =224l 30,000 30,000 0
OLTHMUHUHXITEAZ SER2= 30,000
401 AIEHIZ 28I 16,000 20,000 A 4,000
01 A& Bl 16,000 20,000 A 4,000
OAMTHMUHUHXIEAIZ AlE RXI2el 16,000
ALTHA O A X Al A 2el 375,000 368,261 6,739
201 L2l 260,000 278,261 A 18,261
01 At 22l 60,000 53,500 6,500
OZTYLHHI 29 60,000
02 =224l 200,000 224,761 A 24,761
OZYLHHI 3323 70,000
OFTYLHI I RANE=> 130,000
202 oddl 10,000 10,000 0
01 = LH o4 1l 10,000 10,000 0
OATHMUHUHX 2R2=2 10,000
206 M= Hl 40,000 40,000 0
01 =8l 40,000 40,000 0
OFTFLHI RFANHACE A5 7¥ 40,000
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401 Al& Bl & 28I 40,000 40,000 0

01 A& HI 40,000 40,000 0
O3ELHEHN Al 2 40,000

405 RHoHE S HI 25,000 0 25,000

01 AL EFFHSHI 25,000 0 25,000
OS8LdHN KA 22E H=I| 2 25,000

AMTMHHX XGRS (=) 2,546,000 1,310,000 1,236,000
J| 2,546,000

403 UtXI S E X201 & 2,546,000 1,259,000 1,287,000
| 2,546,000

01 XXM A2 £ 2,546,000 1,259,000 1,287,000
OAITH 0K XIS X& 2,546,000
| 2,546,000

ATHAN X XNSXE BHSZLEMALE X (21) 160,000 0 160,000
| 160,000

201 LB-2gH| 160,000 0 160,000
| 160,000

05 SEUHe=294| 160,000 0 160,000
OTEHew EHLZEMAILE & 160,000
| 160,000

NAMHRNES ANEEZ AL (=) 572,000 1,588,000 A 1,016,000
= 572,000

403 XAXISHM S K201 A 572,000 1,588,000 21,016,000
= 572,000

01 HIXSHMA2E X 572,000 1,588,000 21,016,000
OXNAUHUHRZES ANEEXAEY 572,000
= 572,000

FHAHNS WX SXASE(=22) 2,313,700 2,119,200 194,500
J| 2,050,100
= 263,600

403 XIS E X201 & 2,313,700 2,119,200 194,500
| 2,050,100
< 263,600

01 AXSHMA=2E X 2,313,700 2,119,200 194,500
OMASE & AMIA=XAE LEDS wH 2,313,700
| 2,050,100
= 263,600

ATHHA UK =S XML (SHEEXHA) 831,900 999,750 A 167,850

403 XXM S X201 831,900 999,750 A 167,850

01 XXM A2E = 831,900 999,750 A 167,850
OAITHA Ol L Xl =E X & ALY 831,900

g 25 OsSA 0l848 E=2(IHAEXE) 72,000 120,000 A 48,000
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403 UHXSHHSA=0l& 72,000 120,000 A 48,000
01 X SHMA2E X 72,000 120,000 A 48,000
OHYLE &= U3H 0/ELH 23 72,000
Zsd U X MEots =4(=1) 140,000 0 140,000
Xl 140,000
403 MtXISHHE A0l & 140,000 0 140,000
Xl 140,000
01 XM A=2EE 140,000 0 140,000
ozEd HUHX HMEglts =4 140,000
Xl 140,000
Ol 4 X XH& 22 15,461,147 1,747,405 13,713,742
= 13,366, 184
< 2,094,963
SOHE IISHe PG A8 ME YT ESAE(212) 150,000 300,000 A 150,000
= 150,000
403 XIS E X201 H 150,000 300,000 A 150,000
= 150,000
01 X SHHXN2E= 150,000 300,000 A 150,000
O=s0E OI=H9 PG A8 HEY B MY 150,000
= 150,000
NE JIAANAE (=2 2) 769,897 1,360,624 AB90,727
= 716,184
< 53,713
403 UHXISHHSA=0l& 769,897 1,360,624 AB90,727
= 716,184
< 53,713
01 X ESHHMA=LE L 769,897 1,360,624 AB90,727
OAMBIE JtAAE e 769,897
= 716,184
< 53,713
DR LPGHH 2 AIZAXIH K& (21) 14,500,000 0 14,500,000
= 12,500,000
< 2,000,000
403 MtXISHH S =0l & 14,500,000 0 14,500,000
= 12,500,000
= 2,000,000
01 XM A=2EE 14,500,000 0 14,500,000
O &l LPGHH 22 Al& & XIHl XI& 14,500,000
= 12,500,000
< 2,000,000
SHE HIIBsAMY X2 (SHEEXH) 31,250 53,781 222,531
403 MHXISH S X201 & 31,250 53,781 A 22,531
01 X SHHA2E = 31,250 53,781 A 22,531
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Os0HE HIISSAY =& 31,250
SE2H HUX =5 - 22 =& 10,000 10,000 0
202 o4dl 10,000 10,000 0
01 = LH o4 1l 10,000 10,000 0
Os8X Hdxi2e R2FA 10,000
HE3NSI 22 2,625,225 1,349,525 1,275,700
=2 2,134,250
< 490,975
HII0IEX B3(=1) 24,375 55,125 A 30,750
= 18,750
< 5,625
403 XIS E X201 H 24,375 47,125 A 22,750
= 18,750
< 5,625
01 AXSHHMA2E = 24,375 47,125 A 22,750
OHIIOIER 23 24,375
= 18,750
< 5,625
HAIAXY FH BX(2 D) 142,350 31,200 111,150
= 109,500
< 32,850
403 "X S H S0l & 142,350 31,200 111,150
2 109,500
< 32,850
01 HIXSHMA2E X 142,350 31,200 111,150
OFAHIAXE L BEX 142,350
= 109,500
< 32,850
HAIAXE Hgd BEX23(=1) 188,500 195,000 A 6,500
= 145,000
< 43,500
403 X SHHE A0l & 188,500 195,000 6,500
= 145,000
< 43,500
01 XM A=2EE 188,500 195,000 A 6,500
OFHIAXE HEHl EX 188,500
= 145,000
< 43,500
ISR 200 XJ(=2) 2,038,000 847,200 1,190,800
= 1,638,000
< 400,000
403 XtXISHAI S Xt 2 0 & 2,038,000 847,200 1,190,800
=2 1,638,000
< 400,000
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 HXSHMA2E X 2,038,000 847,200 1,190,800
OHEIIXt=S X 201 XI& 2,038,000
= 1,638,000
< 400,000
HIORSA XDt 2= (=1) 223,000 212,000 11,000
= 223,000
308 XXM SOIA 191,000 160,000 31,000
= 191,000
10 SII 2SOl CHetZ & = 0 & A& I 191,000 160,000 31,000
O&IIXtsA EHI B2 191,000
= 191,000
403 MHXSHHSA=0l& 32,000 52,000 A20,000
= 32,000
02 SJ| 2SO0l CHSH At 2 X CH & AF I 32,000 52,000 A20,000
O&IIXESX EHI B2 32,000
= 32,000
HSZHO0ILUHE RS HE 35t 9,000 9,000 0
202 o4dl 9,000 9,000 0
01 = LH 4 Hi 9,000 9,000 0
OHIOI2ME & SIS 25 FFH 9,000
ATHAEWMUEX Y 2 B3 (NSNS ALEANSESA) 3,593,600 27,000 3,566,600
IINE AHHYTEHI 2SN 72,600 27,000 45,600
403 MtXISHH S0l & 72,600 27,000 45,600
01 XM A=2EE 72,600 27,000 45,600
ONEE AL ZE I ESXE 72,600
HUXZE DS, 22, 8A =1 21,000 0 21,000
201 Let2d] 21,000 0 21,000
01 At 22l 21,000 0 21,000
oNuHX2dE s 88 ,8A FX 21,000
Sdc BHEZEMER ZEAY 3,500,000 0 3,500,000
401 Al HI L =2 Tl 3,500,000 0 3,500,000
01 A& HI 3,431,000 0 3,431,000
O8del LA X 3,431,000
02 2feldl 60,000 0 60,000
O&&cl BHeZed X 60,000
03 Al 2 THHI 9,000 0 9,000
O8da LA X 9,000
HUR Zr22el (RS2 ALNSESH) 1,422,200 1,182,360 239,840
HASE DB IR HANL(BOIHE) 22 & 45,000 45,000 0
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403 UHXSHHSA=0l& 45,000 45,000 0
01 X SHMA2E X 45,000 45,000 0
OMASE 18 I3 HANE B FA 45,000
SEANIA AAXE SSLXH XA 1,296,000 789,138 506,862
403 XSS A0l & 1,296,000 789,138 506,862
01 XM A=2EE 1,296,000 789,138 506,862
OEAIA AXY S=SLXH K& 1,296,000
HIIAIE e K& 39,200 48,222 A9,022
403 XSS X201 & 39,200 48,222 A9,022
01 XXM 22 = 39,200 48,222 A9,022
OMASE =HIIANE HH 39,200
SAIIA ANE2ES M4EEY 19,000 0 19,000
207 51 OH £l 19,000 0 19,000
01 2284 19,000 0 19,000
OZANIA AEEES MEES 19,000
SANIA BSSHIE MHEESA FA 23,000 0 23,000
207 O] 23,000 0 23,000
01 2284 23,000 0 23,000
OZAIIA BSHIE B EY 23,000
JIZHSIUH A (BHFES /8BS 1,111,800 1,677,800 A 566,000
= 395,000
< 716,800
Ji=ds (e =& 719,800 1,196,800 A 477,000
= 80,000
< 639,800
st=xJI=RsIEH2dH XA 632,000 665,000 A 33,000
306 ¢ 3 632,000 665,000 A 33,000
01 &3 632,000 665,000 A 33,000
Ot=II=EHIFUSHILH 2 N 632,000
Jl=dsiie 88 =4 7,800 7,800 0
202 044l 7,800 7,800 0
01 = LH o4 1l 7,800 7,800 0
OJI=HsHM HR=a 7,800
BHIIZANE BASY ZE208(=0) 80,000 374,000 A 294,000
= 80,000
403 A X EHHS =0l A 80,000 374,000 A294,000
= 80,000
01 X EHHMA=ZLE L 80,000 374,000 A 294,000
OtHa Zd4Hl &X 80,000
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| | = 80,000

Jl=dstAdE & UMM 392,000 481,000 A 89,000
= 315,000
< 77,000

BEAHOERHN 29 (=12) 138,000 170,000 A 32,000
= 138,000

308 XIS 138,000 170,000 A 32,000
= 138,000

01 AXSHBLELS 138,000 170,000 A 32,000
OJIE=XNXAN EHAZOEHN 29 XA 138,000
= 138,000

BEAHOIE CHXIY Jte QMEE X3 (=21) 24,000 0 24,000
= 12,000
= 12,000

301 L2 A= 24,000 0 24,000
= 12,000
< 12,000

11IIEHEA S 24,000 0 24,000
OEAZQE X8 It CHEE X3 24,000
= 12,000
< 12,000

JIZBSNSME 29 NV (21) 60,000 66,000 £6,000
= 30,000
< 30,000

307 21201 A 60,000 66,000 26,000
= 30,000
< 30,000

02 QIZHE A A E X 60,000 66,000 6,000
OJIzdHstu=s SIE2Z 60,000
= 30,000
< 30,000

HIAGEE AIHE 240tA MNoALE X3 (22 70,000 80,000 A 10,000
= 35,000
< 35,000

201 €2l 2,000 5,000 A 3,000
= 1,000
< 1,000

01 At 22l 2,000 5,000 A3,000
OSMMBAM BHO £ 2,000
= 1,000
< 1,000

307 2I2t0l A 68,000 70,000 A 2,000
= 34,000
< 34,000

02 HAFHAANHEEE 68,000 70,000 A2,000
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oY JFEIUERT &5 XA 66,000
= 33,000
< 33,000
OHMAEE HLEEHE dS2daIAE =4 2,000
= 1,000
< 1,000
HATEZ2 AMHE 240tA MeALZE I =X XA 100,000 100,000 0
25 N (=2)
= 100,000
308 AXIEtM S0l A 100,000 100,000 0
= 100,000
01 AXNSHHBAEES 100,000 100,000 0
OJIZXXH ALE &5 XN& 100,000
= 100,000
HY2FZH (ol X)) (I1EHIIE 107,238 104,081 3,157
el 2 67,338 64,181 3,157
ATHAEHHX AR 29 67,338 64,181 3,157
101 1A dl 67,338 64,181 3,157
03 RIAHA2ZZ2RE > 67,338 64,181 3,157
OATHAENHXIEAlIZ2 BEESL0O el 67,338
OJIe3(4-558)
1,491,250 62 +1,528, 1902 »6 & 18,117
OJle36za) 1,563,830& »12& 18,766
ON0Z(4-552)
1,491,250& «13] +1,528, 190& *23| 4,548
OaNZ(653) 1,563, 830& x100%*3 2] 4,692
OB24Y(4-552)
1,491,250 »15%+1,528, 190 & *20% 530
O¥=2xg(6a8) 1,563,830& »25%*23| 782
O¢xNRa&EH+<(4-558) 80,330&*152 1,205
OdxR=&IxL(658) 82,860& 15 1,243
ONA D24 (4-552)
10,0403 *x150%*20A| 2t = 12& 3,615
oA+ (652)
10,3503 *x150%*20A| 2t = 12& 3,726
OB EE I (4-55 )
1,491,250& x50%+1,528, 190& *50% 1,510
OYZEFIHHI (65 8) 1,563,830& x50%*23| 1,564
O=aldl 130,000& 123 «2H 3,120
Oul SH| 80,0003 123 x2H 1,920
o1l =t 500,000& x2H 2 H 2,000
Jl=34l 39,900 39,900 0
2A2Y JI23tl 39,900 39,900 0
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M HEHZHI (Ol XI2H)(IIEH/DIE
@2 Jl2&tl
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
201 Bt A | 24,900 24,900 0
01 AP 2t 2l Yl 24,900 24,900 0
O8BNME&Y AIR2teltl 24,900
202 04| 10,800 10,800 0
01 2LHOHI 10,800 10,800 0
ORA2ZE =UWHAOYI 10,800
203 PR =&Y| 4,200 4,200 0
04 2SI L RF=AH| 4,200 4,200 0
©30¢2! 0] ot 350,000& x12& 4,200
MEES(HUUHX ) (A - SAIS/HEHXL R HE) 8,300,000 2,260,000 6,040,000
WEHAH X = 8,300,000 2,260,000 6,040,000
NEXIAEHM SE3H 2F 8,300,000 2,260,000 6,040,000
701 JIEIS HSEHES 8,300,000 2,260,000 6,040,000
01 JIEtSI AN E = 8,300,000 2,260,000 6,040,000
OXNGXIAEM SEIH 29 8,300,000
ol eI Hl (ol bl Hl /0l Bl HT) 76,200 20,840 55,360
GlBIBI (KIS XRANEHNESS H) 76,200 20,840 55,360
ol 5l 8] 76,200 20,840 55,360
801 ol bl Bl 76,200 20,840 55,360
01 Btail bl gl 76,200 20,840 55,360
76,200

© 0l bl bl




